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CEEMISTRY 1410 ’ FIRST EXAM 100 POINTS

Each multiple choice question is worth 3 points. Read each question
very carefully. The four numerical_questions on the exam are worth 10 points
each. Be sure to show your work on the numerical problems as partial credit

will be based upon the work shown. WNOTE: TO RECEIVE PARTIAL CREDIT FOR ANY
NUMERICAL PROBLEM, THE WORK SHOWN MUST EE CONSISTENT WITH THE ANSWER GIVEN!!

MULTIPLE CHOICE: (60 Points) Each of following twenty multiple choice
guestions is worth 3 points, Circle the correct response.

QUESTION 1: Which of the following statements is not true?

(a) There are 1000 centimeters in 10 meters.
{b) There are 1000 grams in 1 kilogram.
{c) There are ‘.I.O‘5 centimeters in 1 kilometer.

{d) There are 106 milligrams in 1 kilogram.

(e} There are 10"® kilograms in 1 milligram.

puestion 2: Which of the following numerical values do not contain four
significant figures?

{a) 3.004

(b)  0.002031
(c) 1.000 x 10°
(4) 2300

{e) 1200.
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QUESTION 3: How many significant figures would be allowed in the numerical
value obtained from the following calculation:

12.1233 + 0.1234 + 0.1434 - 10.12 =

{a} The answer would contain two significant figures.
{b) The answer would contain three significant f#gures.
{c} The answer would contain four significant figu;es.
{d} The answer would contain five significant figures.

{e) None of the above statements are true.

QUESTION 4: How many significant figures would be allowed in the numerical
value obtained from the following calculation:

(15.1234 - 2.43)/(16.12 + 1.234)

{a) The answer would contain two significant figures.
{b} The answer would contain three significant figures.
{c) The snswer would contain four significant figures.
(4) The answer would contain five significant figures.

(e) None of the above statements are true.
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QUESTION 5: The temperature of 92.0 %c corresponds to:

(a) 197.6 °F
(b) 399.2 X
{c) B3.4°F
qd) 221 K

(e) 133.6 °F

QUESTION 63 Rutherford is best remembered for:

(é) discovery of the neutron.
{b) disc0vefy qf the proton.

{c) discovery of the nucleus.
(d) discovery of the electron.

(e) discovery of the alpha particle.

QUESTION 7: What is the molecular formula

Als* and Crzo-,z- ions?

(a)  Alcry0;
(B)  Bly(Cr07)3

of the ionic

compound formed from
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(d) . {Cry0p),Rls

{e) None of the above formulas are correct.

QUESTION 8: How many electrong are there in C.Hg?

(a) 30

(b) 56

(c) Cannot be determined from the information given
() 32

(e) None of the above answers are correct.

QUESTION 9: ¢Cu is the formula of

(a} Carbon

(b} Copper

{c} Cobalt

{d) Chromium

{e) Carbon monoxide

QUESTION 10: -',;gmz* denctes a

(a) Nickel anion having 28 protons, 31 neutrons and 26 electrons

(b) Nickel atom having 28 protons, 31 neutrons and 26 electrons
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{c) Niobium atom having 28 protons, 31 neutronsg and 26 electrons
Q) Nickel cation having 28 protons, 31 neutrone and 26 electrons

(e) Niobjium cation having 28 protons, 31 neutrons and 26 electrons
QUESTION 11: The compound (NHQ)Z(P04)3 containsgs:

(a) two nitrogen atom, 8 hydrogen atoms, 3 potassium atoms and 12 oxygen
atoms.

(b} two nitrogen atoms, 8 hydrogen atoms, 3 phosphorus atoms and 12 oxygen
atoms.

{c) two natrium atoms, 8 hydrogen atomg, 3 potassium atoms and 12 oxygen
atoms.

(d) two nitrogen atoms, 8 hydrogen atomg, 3 platinum atoms and 12 oxygen
atoms.

(e) two nickel atoms, 8 hydrogen atome, 3 phosphorus atoms and 12 oxygen
atoms.

QUESTION 12: What jg the molecular formula for dinitrogen trioxide?

(a) W50,
(b} WO,
{c} N0
(d) N0

(e) N;Og
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QUESTION. 13: Which of the following is an example of a heterogeneous
mixture?

{a) fine grains of clay dispersed in water.

(b) silver metal

{¢) a teaspoon of table salt dissolved in a gallon of coffee
(4} a teaspoon of sugar dissolved in a gallon of coffee
{e) None of the above answers are correct.

QUESTION 14: How many moles of NaOH are there in 120 grams of NaOH?

(2} 1.5
(by 2
{c) 2.5
(d) 3
(ei 3.5

¥

QUESTION 15: What is the molar mass of Cr50; * 5 HZO ?
(a) 159.62
{b} 206.00

{¢) 123.00
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(d) 2087.93

(e}  238.03

QUESTION 16:  How many molecules is present in 0.085 moles of acetylene?

(a) 52.12 x 107

(by  1.41 x 1072

(c) 5.12 x 10%

@  3.16 x 10%

(e} Cannot be de£ermined without knowing the molecular formula of acetylene.

QUESTION 17: How many grams of carbon dioxide, €O, can be produced from the
burning of 132.48 grams of butane gas in an excess of oxygen: The
balanced chemical reaction is:
CBiogasy * 13/2 Oages) T 4 COygesy 5 BaOig)

(a) i64.3 grams

(b) 401.7 grams

{c) 100.4 grams

(d) 704.2 grams

{e) 132.48 because you cannot destroy oF create mass

QUESTION 18: What is the percent composition (by mass) of Na in Naj O?

{(a) 42.5 %
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(b) 74.2 %
{c) 40.0 %
(d) 57.5 %
(e) 66.6 %

QUESTION 19: What are the coefficients needed to balance the following
chemical reaction:

CSH 6O + 02 ————D COZ + HZO

{a} 1, 6, 5, 2
{&) i, 5, 4, 2
(¢} 2, 5, 8, 10
(ds i, 5, 6, 4

{e} None of the above answers are correct

QUESTION 20: Assume that only two isotopes of copper occur naturally,
Copper-63 (mass = 62.9298 am, abundance of 75.0 %) and Copper-65 (mass =
64,9278 amu, abundance of 25.0 %). TFrom the information given, calculate the
average atomic mass of copper. (Note: The answer will be different than what

is given on the periodic table because I bhave changed the relative abundancies
of the two isotopes.)

(a) 63.93

(b) 63.15
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(c) 64.43

() 63.43

(e) None of the above answers are correct.

NUMERICAL QUESTI ONS:
Each numerical guestion is worth 10 poin

QUESTION 21: The distance between Dento
distance between Denton and Dallas

Information given: 1l mile = 5,280

ts.

n and Dallas is 40 miles.
in kilometers?

What is the

feet . 1 inch = 2.54 cm
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QUESTION 22: A cube of ruthenium metal is 1.5 cm on a side has a& mass of

142.0 grams. What is the density in grams/cn??

QUESTION 23: 30.0 grams acetylene gas (CgHp) is allowed to react with 40.0

(a)

{b)

grams of oxygen gas (Op) according to the following balanced chemical
reaction: ‘

2 Coflgasy * 5 Oaqges > 40O 2 B0

What is the limiting reagent for the conditions given above

How many grams of H,0 can be theoretically produced under the above
conditions?
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QUESTION 24: A compound containing only phosphorous and oxygen contains 43.64
$ P by mass. Determine the simple empirical formula of the compound.
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